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i 1 | ®& | 4028m | 4000m | 0.000m |[88.720% |91855% | 3.135%| 0] — — — =
2 1 2.083m | -4.000m | 0.000m _|87.423% | 90311% | 2.888%| O] — - - =
3 1 ~0.130m | -4.000m | 0.000m _[86.151% | 88.654% | 2503%| O] _— - - =
4 1 1.806m | -4.000m | 0.000m | 84.133% | 86.110%| 1.977%[ O | — - - =
5 1 3750m | -4.000m _|_0.000m | 81417% | 83.443% | 2026%[ O] — - - =
6 1 5.604m | -4.000m _|_0.000m | 79.729% | 81.380% | _1651%[ O] _— - - =
7 1 7:630m | 4000m | 0.000m |78.760% | 79.798% | 1.038%| O | _— - - =
8 1 9.583m | -4.000m | 0.000m | 78.241% | 78.709% | 0.468%| O | 78.303% | 78.673%| 0.370% O
9 1 11.528m | -4.000m | 0.000m | 78.016% | 78.229%| 0213%| O | 78.079% | 78.189%| 0.110% O
10 1 13.472m | 4000m | 0.000m | 78.016% | 78.229%| 0.213% O | 78.079% | 78.189%| 0.110%[ O
11 1 15417m | 4000m | _0.000m | 78.241% | 78.709%| 0468% O] — — - =
0 1 17.361m_|_-4000m | _0.000m | 78.760% | 79.798%| 1.038% O] — - - =
13 1 19.306m _|_-4000m _|_0.000m | 79.729% | 81.380%| 1651% O] — - - = _ - N
14 1 21250m | 4.000m | 0000m | 81417% | 83.443%| 2.026% O — - - = SERY 21— LORIRDEMGIZEE.
15 1 23.194m | -4000m | 0.000m | 84.133% | 86.110%| 1.977% O] — - — = SEE [~ [ 7 71 £ 3
16 1 25139m | -4000m | _0.000m | 86.151% | 88654%| 2503% O | _— - - = RBEIIECTT AV ARZERMILTFEY
17 1 27.083m | -4000m | 0.000m | 87423% | 90311%| 2838% O] — - — =
18 1 20.028m | _-4000m _|_0.000m | 88.720% | 91855%| 3.135% O | _— - - =
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